

13.34

$C, \Sigma$  の項の最大化  $L = Q(\theta, \theta^{old})$  は

$$Q(\theta, \theta^{old}) = -\frac{N}{2} \ln |\Sigma| - E \left[ \frac{1}{2} \sum_{n=1}^N (x_n - Cz_n)^T \Sigma^{-1} (x_n - Cz_n) \right] + C, \quad C \text{ は } C, \Sigma \text{ 以外の項}$$

$C$  の最大推定は

$$0 = \frac{\partial Q}{\partial C} = -E \left[ \frac{1}{2} \sum_{n=1}^N \frac{\partial}{\partial C} (x_n - Cz_n)^T \Sigma^{-1} (x_n - Cz_n) \right]$$

$$= -\frac{1}{2} \sum_{n=1}^N E \left[ \frac{\partial}{\partial C} \{ x_n^T \Sigma^{-1} x_n - x_n^T \Sigma^{-1} Cz_n - (Cz_n)^T \Sigma^{-1} x_n + (Cz_n)^T \Sigma^{-1} (Cz_n) \} \right]$$

$$= -\frac{1}{2} \sum_{n=1}^N E \left[ -2 \sum^T x_n z_n^T + 2 \sum^T C z_n z_n^T \right]$$

$$= \sum^T \sum_{n=1}^N (x_n E[z_n^T] - C E[z_n z_n^T])$$

よって

$$C = \left( \sum_{n=1}^N x_n E[z_n^T] \right) \left( \sum_{n=1}^N E[z_n z_n^T] \right)^{-1} \dots (13.115)$$

を得る。

行列微分が複雑な場合  
微分を積分の中に代入。

$$\frac{\partial}{\partial C} x_n^T \Sigma^{-1} Cz_n = \frac{\partial}{\partial C} \text{Tr} (x_n^T \Sigma^{-1} Cz_n)$$

$$= \frac{\partial}{\partial C} \text{Tr} (Cz_n x_n^T \Sigma^{-1}) \leftarrow \text{Tr} \text{ 交換}$$

$$= (z_n x_n^T \Sigma^{-1})^T = \Sigma^{-1} x_n z_n^T$$

$$\frac{\partial}{\partial C} (Cz_n)^T \Sigma^{-1} x_n = \frac{\partial}{\partial C} \text{Tr} ((Cz_n)^T \Sigma^{-1} x_n)$$

$$= \frac{\partial}{\partial C} \text{Tr} (x_n^T \Sigma^{-1} Cz_n) \leftarrow \text{Tr} \text{ 交換}$$

$$= \Sigma^{-1} x_n z_n^T \leftarrow \text{Tr} \text{ 交換}$$

$$\frac{\partial}{\partial C} (Cz_n)^T \Sigma^{-1} (Cz_n) = \frac{\partial}{\partial C} \text{Tr} ((Cz_n)^T \Sigma^{-1} (Cz_n))$$

$$= \frac{\partial}{\partial C} \text{Tr} (z_n^T C^T \Sigma^{-1} C z_n)$$

$$= (\Sigma^{-1})^T C z_n z_n^T + \Sigma^{-1} C z_n z_n^T \leftarrow$$

$$= 2 \Sigma^{-1} C z_n z_n^T$$

公式  $\frac{\partial \text{Tr}(AX^T BXC)}{\partial X} = B^T X A^T C^T + BXC A$   
導出は後述 13.33 に記す

